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%—5‘:7‘1] 1 (17%)

1. 19kg 2. 16m
4. —66 5. 565Y
7. —2136 8. —36121
10. —4 11. 1487
13. 189¢ 14. —70872

16. d=64mm, A=136mm, B=10mm

As=A 2 (19%)

1. (a) 468 (b) 868

3. (a) 8613kg (b) 584kg
5. (a) 10304 (b) —4433
7. (a) 259 (b) 56

9. (a) 8067 (b) 3347

11. 89.25cm

As=A 3 (20%)

. (a) 4 (b) 2

. (a) 10 (b) 350

. (a) 2 (b) 210

. (a) 5 (b) 210

. (a) 14 (b) 420420

© N 01w

A=A 4 (217)

1. 59 2. 14 3. 88
7. 68 8.5 9. 2

=
ol
r2

3. 479 mm
6. —225
9. £107701
12. 5914
15. $15333

2. (a) 1827 (b) 4158Y
4. (a) 351mm (b) 924mm
6. (a) 48m (b) 89m
8. (a) 1648 (b) —1060

10. 18kg

12. 29

2. (a) 12 (b) 360

4. (a) 90 (b) 2700
6. (a) 3 (b) 180

8. (a) 15 (b) 6300
10. (a) 14 (b) 53900
4.5 5. 33

.22



%—5’_— A 5 (25%)

1 2 22 71
L2 2. 7% 3. o 4. 4
4 3 4 1 3 5 8 11
> 7 7935 s o 8 15
17 9 3 43
9. 3o 10. 75 1. 15 12 ==
47 1 4 51
13. =2 14 192 15, 5= 16. 82
9 16 17 17
17 145 18 157 19. 55 20. o5
ASEA] 6 (27%)
8 2 6 5
Lo 2. 25 3. 17 4 5. 2%
3 1 1 8
6 g 7. 11 8 E 9. 15 10. 1—5
2 5 3 12
1. 27 12. = 13. 3% 14 o 15. 4
16. % 17 % 18. 13 19. 15 20. 4002]E
21. (a) 609 (b) P36%, Q16% 22. 283803 H
ASEA 7 (28%)
1 1 1 3 13
L 2 g — 3 1= 4. 4% 5. o
7 19 1 1
6. 1 7 45 8. 2 9. 73 10, 15
11. 4 12. 217



‘_H-v-xﬂ 8 (30%)

13 9 7 6
1. % 2. ﬁ 3. E 4. FS
33 21 1 141 3 21
3 7
7. 23% 8. 10% 9. 6ﬁ
41 11 1 7 17
10. (a) 15 (b) 4@ (C) 14§ (d) 15% (e) 16—
11. 0.625 12. 6.6875 13. 0.21875 14. 11.1875
15. 0.28125

As=A 9 (31%)

1. 14.18 2. 2.785 3. 65.38 4. 43.27
5. 1.297 6. 0.000528

As=A 10 (32%)
1. 80.3 2. 329.3 3. 72.54 4. —124.83

5. 295.3 6. 18.3 7. 12.52mm

As=A 11 (34%)

1. 4.998 2. 47.544 3. 385.02 4. 582.42
5. 456.9 6. 434.82 7. 626.1 8. 1591.6
9. 0.444 10. 0.62963 11. 1.563 12. 53.455
13. 13.84 14. 8.69 15. (a) 24.81 (b) 24.812

16. (a) 0.00639 (b) 0.0064 17. (a) 8.4 (b) 62.6

18. 2400



ASwAl 12 (36%)

1. 30.797 2. 11927
5. 84.42 6. 1.0944

9. 10.59 10. 12.325
AS=A 13 (37%)

1. 12.25 2. 0.0361

5. 2.4430 6. 2.197

9. 219.26 10. 5.832x10 ¢

AS5=A 14 (38%)

1. 0.571
5. 14.96
8. 1.0871

AGEA 15 (39%)
1. 2.182

5. 0.1581

9. 0.30366

13. 4.2x10 ¢

2. 40
6. 19.4481

9. 15.625x10 °

2. 11.122
6. 2.571
10. 1.068

3. 13.62
7. 50.330

46.923
30.96

0.13459

7. 515.36 <10 ¢

3. 185.82
7. 5.273
11. 3.5x10°

14. 202.767 <10 *

AS=A 16 (40%)

1. 0.4667 2. %
1

5. of 6. 0.7083
9. 2.567 10. 0.0776
AS=A 17 (41%)

1. 0.9205 2. 0.7314
5. 0.4424 6. 0.0321
9. —0.6992 10. 5.8452
ASEA 18 (41%7)

1. 4.995 2. 5.782
5. 0.6977 6. 52.92

10. 0.3770

9. 3.520

4.458

10

2.9042
0.4232

25.72
591.0

. 53.832
. 36.45

1.296 <10 3
0.0549

4. 137.9

10. 52.70

4. 0.8307
8. 1.2555

12. 37.5x10°
15. 18.32 < 10°

0.2719
0.1502

69.42
17.90



A=A 19 (42%)

2. C=52.78mm
6. 5.02mm

10. 14230kg/m®

1. A=66.59cm>
5. 0.407 A
9. 224.5

AS=A 20 (44%)

1. 589.27¢ 2. 508.1W
5. I=3.81A 6. t=14.79s
9. s=17.26m 10. A=7.184cm?

12. (a) 12.53h

(b) 1h 40min, 33m.p-h-

3. R=375 4. 159m/s

7. 0.144] 8. 628.8m>
11. 281.1m/s 12. 2.526

3. V=261V 4. F=854.5
7. E=3.96] 8. I=12.77TA
11. v="7.327

(c) 13.02h (d) 13.15h



Lu-rxﬂ 21 (49%)

1. 0.32% 2. 173.4% 3. 5.7% 4. 37.4%

5. 128.5% 6. 0.20 7. 0.0125 8. 68.75%

9. 38.462% 10. ( ) 21.2% (b) 79.2% (c) 169% 11. (b), (d). (o). (a)
13 9

12. 20 13. E 14. 16

15. 4= l, B=50%, C=0.25, D=25%, £=0.30,

17

F= , G=0.60, H=60%, /= 0.85, J—20

16. 7790 OM 861Q 7HA]

A=A 22 (51%)

1. 21.8kg 2. 9.72m 3. (a) 496.4t (b) 8.657g (c) 20.73s

4. 2.25% 5. (a) 14% (b) 15.67% (c) 5.36% 6. 37.8¢

7. 148 57% 8. 76g 9. 611000 10. 37.49%

11. 39.2% 12. 17% 13. 38.7% 14. 2.7%

15. 5.60m 16. 3.5%

17. (a) (i) 544Q (ii) 816Q (b) (i) 44.65kQ (ii) 49.35kQ

18. 2592rev/min

A5+ 23 (53%)

1. 2.5% 2. 18% 3. £310 4. 1750009
o 7. 8778.05%F Y 8. 5.025%F <

5. 2600009 6. £20000 (= 877805001 ) (= 5025091

9. 396004 10. 9177004 11. 19 8500%F & 12. 7.2%

13. A0.6kg, B0.9kg, C0.5kg
15. 20000kg (£ 20ton)
17. 600kW

14. 54%, 31%, 15%, 0.3t
16. 13.5mm, 11.5mm



| H—.-Xﬂ 24 (57%)

1. 36:1 2.35:1 = 7:2 3.47:3 4. 96 cm, 240 cm
5. 5%/\]{} T 5A7F 158 6. 3680%F<Y, 18409+ ¢, 9209+ ¢
7. 12¢cm 8. 21725+ 4

AS=A 25 (58%)

1. 1:15 2. 76ml 3. 25% 4. 12.6kg
5. 14.3kg 6. 25000 kg

AS=A 26 (59%)

1. 55600 2. 6600004 3. 264kg 4. 450N
5. 14.56kg 6. (a) 0.00025 (b) 48 MPa
7. (a) 440K (b) 5.762] €] 8. 8960=E

A=A 27 (61%)

1. (a) 2mA (b) 25V 2. 434 1r 3. 685.8mm
4. 831b 100z 5. (a) 159.12J¢ (b) 16.573= 6. 29.4MPa
7. 584.2mm 8. $1012

. 3.5% 2. 202 3. (a) 9.18 (b) 6.12 (c) 0.3375
5 . (a) 300x10° (b) 0.375m? (c) 240<10°Pa

()
r{m
(@al



As=A 29 (64%)

1. 27 2. 128 3. 100000 4. 96 5. 2*
6. £5 7. +8 8. 100 9.1 10. 64

AS=A 30 (66%)

1. 128 2. 3% 3. 16 4. % 5.1
1 .
6. 8 7. 100 8. 1000 9. Tog EE 001
10. 5 11. 7° 12. 3¢ 13. 3% == 729
1 1
4 - = -
14. 3 15. 1 16. 25 17. . T
18. 49 19, % T 05 20. 1
AL EA 31 (68%)
1 1 32 1
1, —— 2., ——— 2 4, .
3x5° 7 x 3 s 2" x 5% >
1 2 147 19
. - + = L — e
6. 3 7. 5 8. +3 9 T 10. —1-
17, —3i3 12. - 13, — 1 14. 64 15 4+

45 9 ' 18 2



%—F-’_- A 32 (72%)

1. AAgoe, m® 2. M=

3. AlEUlE, m? 4. %2 0]8, m/s
5. NIABuEY Z27338, kg/m’ 6. 22

7. 2% 8. 9JE

9. et EE & 10. 2

1. 2% 12. xjﬂ;qsg
13. Fupap 14. 7t4 %

15. A7 A& 16. QIEEIA
17. Zo] 18. &%

19. o= 20. Zt& %

21. x10° 22. m, %10 °
23. x10 2 24. M, x10°

ra

S2A 33 (73%)

(a) 7.3910 (b) 2.84x10 (c) 1.9762 < 10

(a) 2.748 x10% (b) 3.317x10* (c) 2.74218 < 10°

(a) 2.401 %10 "' (b) 1.74x10 2 (c) 9.23x10 *

(a) 1.7023x10° (b) 1.004<10 (c) 1.09x 10 >

(@) 5x10 ' (b) 1.1875x10 (c) 3.125x10 * (d) 1.306 < 10°
(a) 1010 (b) 932.7 (c) 54100 (d) 7

(a) 0.0389 (b) 0.6741 (c) 0.008

(a) 1.35x10% (b) 1.1x10°

(a) 2x10% (b) 1.5x10 3

© X® N0k W

10. (a) 2.71x10%kgm ~® (b) 4.4x<10" ' (c) 3.7673x10*Q (d) 5.11 10 'MeV

(
(e) 9.57897x 10" Ckg ' (f ) 2.241 <10 > m®mol !

AS=A 34 (75%)

1. 60kPa 2. 150uW E= 0.15mW 3. 50MV

4. 55nF 5. 100kW 6. 0.54mA T 540pA

7. 1.5M 8. 22.5mV 9. 35GHz 10. 15pF

11. 17pA 12. 46.2kQ 13. 3pA 14. 2.025MHz
15. 50kN 16. 0.3nF 17. 62.50m 18. 0.0346kg

19. 13.5x10 3 20. 4x10° 21. 3.810°km 22. 0.053nm

23. 5.6MPa 24. 4.3x10 °m = 4.3mm



As=A 35 (78%)

1. —3a
4. 6ab—3a
8. 3a+5b

A=A 36 (81%)

1. p2q3r
1
5. 55
9. 5x2’
1
12. 3
16. 3p+2¢q

AS=A 37 (82%)

1. 2*

5.b°°

9. z"

13. o ¥ - ig
a

17. p°q"r®

A=A 38 (84%)

1. a2 ? +4l
. ;45
5 P

q—p

2. a+2b+4c
6x — 5y + 8z
9. —2a—b+2c

o

10. 3a*+2ab—V*
13. 2ab

17. 2a® +2b*

1+a
b

6. zy? Vet

2.

8 all/ﬁ b1/3 673/2 T G\/ a' %

\/:3

3. 3z—3z*—3y—2¢°

6. 1+2z

10.

3z — y2

3. 6¢°
7. 6

7. 4z +2y+2

11. 6a*—13ab+ 3ac—5b° + be

14.

3z

15. 2z —y

4, pM
8. z * &

rir

aw|H

12. M

19. z2°y*2%, 13%

4. o ot

14. v 7 E= nE



%—F&Kﬂ 39 (86%)

1. 224+52+6

5. 42® + 222+ 30
9. a®>—2ac+c?

13. 642” +64z+ 16
17. 2a*— 3ab—5b*
21. 2’ —Adzy+4y°
25. 4ab— 8a’

AS=A 40 (88%)

1. 2(z+2)

5. 4d(d—3f°)

9. z(1+3z+5z%)
12. 2pg* (2p* —5q)

2. 2¢* + 9z +4

0. 2pqr+p2q2+r2
10. 252° +302+9
14. 72> 4+ 2rst + 12
18. 13p—17q

22. 9a>— 6ab+ b’

26. 3zy+9z’y— 1522

2. 2x(y—4z)
6. 4x(1+2z)
10. be(a+b%)
13. 7ab(3ab—4)

15. 2zy(z—2y* + 42%y°)

18. 0

22. (x—y)(a+b)

AS=A 41 (90%)

1. 22 +82°

5. %*433

1
2 _ =
9. 6a”+5a 7

2r
19. Y

23. (a—2b)(2z+ 3y)

2. 124> —3y
6. 1

10. —15¢

4. 25*+25—12
8. z*+12z+36

3. 422+ 12249
7. a*+2ab+b*

11. 42°—24z+36  12. 42°—9
15. 3ab— 6a* 16. 22°—2zy
19. Tx—y—4z 20. 4a’>—25b°
23. 0 24. 4—a

27. 2+ 50 28. 11¢—2p
3. p(b+2¢) 4. 22(1+2y)
7. 2q(g+4n) 8. r(s+p+t)

11. 3zy(zy®—5y+6)
14. 2zy(y+ 3z + 42?)

16. Ty(4+y+2z) 17. 37“7
20. (a+b)y+1) 21. (p+q)z+y)
2
24. A—(AQ—l-i-A?))
Pg \ pg g
3. 4b—15b 4. 4+3a
2 l 2 lf
7. 10y 3y+4 8. 9z~ + 3 4z
1
11. g—x—x2 12. 10a®>—3a+2



AS=A 42 (93%)

11 2.2 3.6 4. 4 5. 9 6. 1
7.9 8. % 9. 0 10. 3 11. 2 12. —10
13. 6 14, —9 15. 2.5 16. 2 17. 6 18. —3

AS=A 43 (95%)

1.5 2. —2 3. —4% 4. 2 5. 12 6. 15
7. —4 8. 5% 9. 2 10. 13 11. —10 12. 2
13. 3 14. —11 15. —6 16. 9 17. 6% 18.3
19. 4 20. 10 21. 412 22. —3% 23. +3 24, +4

AS=A 44 (97%)

1. 107 2. 8m/s” 3. 3.472 4. (a) 1.8Q (b) 30Q
5. gxg 72t vige] 9000, 7830 viE 2] 14000 6. 800 Q
7. 30m/52 8. 176 MPa

AS=A 45 (99%)

1. 12cm, 240 cm? 2. 0.004 3. 30 4. 45° C
5. 50 6. 312000¢, 2400009 7. 30kg 8. 12m, 8m
9. 3.5N



5. R:7
T
9. T__PR

13. C= %(F—sz)

AS=A 47 (105%)

1. r= S;“ L
3 f:3F—AL i
3

= s
EF—e—1Ir
7. R= 7 =
r=——a
V(i —b*)
11. u= Vv*—2as
13. a=N%y—z
15. v= 2L
pac
ASTAl 48 (107%)
1. 1. a= (&)
m—n
3(a:+y)
3. r=—-—7——"%<
" (1*33*3/)
5 b= —S
\/1—a2
a(p’— )
7 p="2P "4/
2(p* +¢°)
9. ty=t,+-2 55
mc
2
1. 1= 83*2 +d, 2.725
13. 64mm

10. L=——

,63.1x10 6



2R—F

7 ; 3kN/m

ﬁ(l—s)
w \ 100

/

8tV
p

|

16. tzztl—%

2
18. F= E[(%) : 13.61MN

20. (=} (209[172 )2
' ]p4D2




1. x=4,y=2 2. x=3,y=4 3. z=2,y=1.5 4. x=4,y=1

5 p=2,q=—1 6. z=1,y=2 7. x=3,y=2 8. a=2,b=3

9. a=5,b=2 10. z=1,y=1 11. s=2,t=3 12. x=3,y=—2
13. m=25,n=05 14. a=6,b=—1 15. x=2,y=5 16. ¢c=2,d=—3
AEEA 50 (113%)

1. p=—1,¢q= — 2. x=4,y=6 3.a=2,b=3 4. s=4,t=—1
5, x=3,y=4 6. u=12,v=2 7. x=10,y=15 8. a=10.30, b=0.40
AEEA] 51 (115%)
1 1 1 1 1 1

1. z Y= Z.a—g,b— > 3 p—z,q—g 4. x=10,y=5
5 ¢=3,d=14 6 r=3,s—% 7 1:25,3/21% 8.1

AEEA 52 (118%)

1. a=02b=4 2. I, =6.47, [, = 4.62 3. u=12,a=4,v=26

4. £15500, £12800 5. m=—05,¢c=3 6. a=0.00426, R, = 22.56(2

7. a=12, b=0.40 8. a=4,b=10 9. Fy=15,F,=—45

10. R, =5.7kN, R, = 6.3kN

AEEA 53 (120%

I.x=2,y=1,2=3 2. x=2,y=—2,2=2 3. x=b,y=—1,2=—2
4. x=4,y=0,2=3 5 2=2,y=4,2=5 6. =1, y=6,2=7

7. x=5,y=4,z2=2 8. z=—4,y=3,2=2 9. z=1.5,y=25,2=4.5
10. i1:_5712:_47i3:2 ].].. F1:2,_F,2:_3,F3:4



A5A 54 (124%)

1. 4, —4 2.4, —8 3.2, —6
5.0, —% 6. 2, —2 7. 4
9. 1 10. —2, —3 11. —3, —7
13. 4, —3 14. 2,7 15. —4
17. —3 18. 3, —3 19. —z-—%

1 1
21. R 22. 4, —17 23. —1, 1.5

1 4 1 1 3

4 1 5 3 ) _
29. 3, 5 30. 1 9 3l. z°—4x+3=0
33. 2’ +52+4=0 34. 42°—8x—5=0 35. 2°—36=0
AS=A 55 (126%)
1. —3.732, —20.268 2. —3.137, 0.637 3. 1.468,
5. 2.443, 0.307 6. —2.851, 0.351
ASEA 56 (127%)
1. 0.637, —73.137 2. 0.296, —60.792 3. 2.781, 0.719
5. 3.608, —81.108 6. 1.434, 0.232 7. 0.851,
9. 1.481, —11.081 10. 4.176, —61.676 11. 4, 2.167

13. 4.562, 0.438

AS=A 57 (129%)

1. 1.191s

4. 0.619m, 19.38m
7. 86.78 cm

10. 120, 28 Q)

AS=A 58 (130%)

l.z=1,y=3 283 =

2 1

_ “ - —— 7
2.m—5yy— 5
3. x=0,y=4 17

2. 0.345A, 0.905 A
5. 0.0133

8. 1.835m, 18.165m
11. 0.52s 12|11

—12.351

5.73s

—81.135

4. —1.5, 1.5
8. —5
12. 2, —1
16. 2
20. —1.5
1 1
24. 53
2
28. 5 3

32. 2+32—10=0
36. 22— 1.72—1.68=0

4. 1.290, 0.310
4. 0.443, —31.693
8. 2.086, —60.086

12. 7.141, r—13.641

3. 7.84cm

6. 1.066m
9. Tm

12. 400rad/s



AS=A 59 (133%)

1. 4 2. 4 3. 3 4. -3 5. 5 6. 3
1 1
7.2 8. —2 9. 15 10. 3 11. 2 12. 10000
1 1 3
13. 100000 14. 9 15. 33 16. 0.01 17. 16 18. e
HASA 60 (135%)
1. log6 2. loglh 3. log2 4. log3 5. logl12 6. log5h00
7. log100 8. logh6 9. log10 10. logl=0 11. log2
12. 10g243 EX 10g3’ X 5log3 13. log16 or log2* or 4log?2
14. log64 or log2® or 6log2 15. 0.5 16. 1.5 17. =25
18. t=28 19. b=2 20. =2 21. a=6 22. ©=5

AH=A 61 (137%)

1. 1.690 2. 3.170 3. 0.2696 4. 6.058 5. 2.251
6. 3.959 7. 2.542 8. —0.3272 9. 316.2



%—F&Kﬂ 62 (140%)

1. (a) 0.1653 (b) 0.4584 (c) 22030

2. (a) 5.0988 (b) 0.064037 (c) 40.446

3. (a) 4.55848 (b) 2.40444 (c) 8.05124

4. (a) 48.04106 (b) 4.07482 (c) —0.08286
5. 2.739 6. 120.7m

ASEA 63 (142%)

1. 2.0601 2. (a) 7.389 (b) 0.7408

3. 1—2:52—%203—23:4

1/2 5/2 9/2
4. 22+ 22 27+ 3 12
ASTA 64 (143%)

. 3.95, 2.05 2. 1.65, —1.30
)

1
4. (a) 70°C (b) 5min

AswA 65 (146%)
1. (a) 0.55547 (b) 0.91374 (c) 8.8941

lx13/2 T Lx17/2 4 imm/z

60

3. (a) 28 cm®

(b) 116 min

2. (a) 2.2293 (b) —0.33154 (c) 0.13087

5. 2.197
9. 1.522
13. 4

20. 992m/s

3. —0.4904 4. —0.5822

7. 0.8274 8. 11.02

11. 1.962 12. 3

15. 4.901 16. 3.095

17. t:eb+alnD ebealnD belnD“’ é t:ebDa
U,

19. W= PVIn (7)

AS=A 66 (149%)

1. (a) 150°C (b) 100.5° C

3. (a) 29.32V (b) 71.31x10 °s
5. (a) 50°C (b) 55.45s

7. (a) 3.04A (b) 1.46s

a

2. 99.21kPa

10. 20667F < 11. (a) 100% (b) 67.03% (c) 1.83%

13. 142ms 14. 99.752%

15. 204 38 %

6. 816.2
10. 1.485
14. 147.9

18. 500

21. 348.5Pa

4. (a) 1.993m (b) 2.293m
6. 30.37N
8. 2.45mol/cm® 9. (a) 7.07A (b) 0.9665

12. 2.45mA



ASwAl 67 (155%
1. (a) &85 1em =4V (£ Iem=5V), 245 1em=10Q
(b) #+¥% lem=5m, $A% lem =0.1V
() 8% 1em =10N, A% 1cm =0.2mm

2. (@) =1 (b) =8 (c) —1.5 (d) 4 3. 145 4. (a) —1.1 (b) —1.4

5. 1010rev/min2 1070rev/min©] ¥ ojof gtct. ;
(a) 1000rev/min (b) 167V

ASEA 68 (161%)

1. BAIYA] e ZF5: —0.75, 0.25, 0.75, 1.75, 2.25 ,2.75; 7] 27| =%
2. (a) 4, —2 (b) —1,0 (c¢) —3, —4 (d) 0,4

3. (a) 2~ (b) 3 —2% (o L, L

' "2 ’ 2 247 2

4. (a) 6, =3 (b) —2,4 (c) 3,0 (d) 0,7

1 2 2 1 2
5. (a) 2, Y (b) 3 *15 (c) 13’ 2 (d) 10, *4§
3 5

6. (a) T (b) —4 (c) —lg 7. (@)%} (c), (b2t (e)

8. (2,1) 9. (1.5,6) 10. (1, 2)

11. (a) 89cm (b) 11N (c) 2.4 (d) I=2.4W+48 12. P=0.15W+3.5
13. a= —20, b= 412
A5 EA 69 (166%)

1. (a) 40°C (b) 128Q 2. (a)850rev/min (b) 77.5V
3. (a) 0.25 (b) 12 (c) F=0.25L+12 (d) 89.5N (e) 592N (f) 212N

4. —0.003, 8.73N/cm? 5. (a) 22.5m/s (b) 6.5s (c) v=0.7t+15.5

6. m=26.8L 7. (a) 1.25t (b) 21.6% (c) F= —0.095W+2.2
8. (a) 96x10°Pa (b) 0.00022 (c) 29x10°Pa

9. (a) ~ (b) 6 (c) E=~L+6 (d) 12N (e) 65N

5 5
10. a=0.85, b=12,254.3kPa, 275.5kPa, 280K



AS=A 70 (172%)
*(¢) ¢ (d) d 2. (a)

1. (a) y (b) = Y

3. (a) y (b) % () f(d) e 4. (a) % (b) z (c) b (d) ¢
5. (@ £ (b) =5 (© a(d) b 6. a=1.5,b=0.4, 11.78mm’
7. y=22>+17,5.15 8. (a) 950 (b) 317kN

9. a=0.4,b=8.6 (a) 94.4 (b) 11.2

AS=A 71 (176%)

1. (a) 1gy (b) = (c) lga (d) 1gb 2. (a) 1gy (b) 1gz (c) L (d) 1gk
3. (@) Iny (b) z (c) n (d) Inm 4. I=0.0012V ?, 6.75 7tdz}

5 a=3.0,b=0.5 6. a=5.6,b=2.6, 37.86, 3.0

7. Ry=25.1,c=1.42 8. y=0.08¢"%"

9. 7T, =35.3N, = 0.27, 64.8N, 1.29 a}cjot



%—E—Xﬂ 72 (178%)

l.x2=2,y=4 3. =35, y=1.5 4. z=—1,y=2
7. a=0. =1.

8 8
I
=
NS
I
=

AS2Al 73 (182%)

2. —0.4,0.6 3. —3.9,6.9 4. —1.1,4.1 5. —1.8,2.2
6. 2= —1.5 —2, (=1.75, —0.1)o|A AA 7. z=—0.7,1.6
8. (a) £1.63 (b) 1, —0.3 9. (—2.6,13.2), (0.6, 0.8), z = —2.6, 0.6

10. z=—1.2,2.5 (a) —30 (b) 2.759} —1.50 (c) 2.3, —0.8

4,y=8 I z=—0.5,y= —5.5
z=—1.5,35 (b) x=—1.24,3.24 (c) z= —1.5, 3.0

AS=A 75 (184%)

l. 2=—2.0, —0.5,1.5

2. z=-—2,1,3, (2.1, —4.1)9)A F A, (—0.8,8.2)0A 2O
3.z=1 4. z=—2.0,0.4, 2.6
5 z=—1.2,0.70, 2.5 6. z=—2.3,1.0,1.8
7.

rz=—1.5



Ads= 1] 76 (188%)

1. 82727’ 2. 27° 54" 3. 51711’ 4. 100°6'52”
5. 15°44'17” 6. 86°49'1” 7. 72.55° 8. 27.754°
9. 37° 57’ 10. 58°22'52”
AZEA 77 (190%)
1 97t 2. £7} 3. ozt 4. A7}
5.(a) 21° (b) 62°23" (c) 48°56'17" 6. (a) 102° (b) 165° (c) 10°18'49”
7. (@) 60° (b) 110° (c) 75° (d) 143° (e) 140° (f) 20° (g) 129.3° (h) 79° (i) 54°
8. A

(a) 13,24,57,68
(b) 1&2,2&3,3&4,4&1,5&6,6&7, 7&8,8&5,3&8,1&6,4&7,2&5
(

c) 1&5,2&6,4&8,3&7 (d) 3&5,2&8
9. 59°20’ 10. a=69°,0=21",¢c=82" 11. 51°
12. 1.326rad 13. 0.605rad 14. 40° 55’

AS=A 78 (193%)
o

L (a) o2l 59Ql oZhazta (b) ol SWAZE () Aztol a2ty
d) RS EAAAY (o) HALY () AZUAY

2. a=40",b=82",¢=66",d=75",e=30", f=75" 3. DF, DE 4. 52°

5. 122.5° 6. ¢=51",x=161" 7. 40°,70°,70°,125°, o] SEH Z+Y

8. a=18"50",b=71"10",¢=68",d=90",e=22", f=49°,g=41"

9. a=103",b=55",¢c=77",d=125",e=55", f=22",4¢g=103",
h=77",i=103",j=77",k=281"

10. 17° 11. A=37",B=60", E=83"

1. (a) ¥542t8 BAC, DAC(SAS) (b) a2+ FGE, JHI(SSS)
(c) 50| opyrt. (d) =542 QRT, SRT (RHS)
(e) Fr=AZS UVW, XZY (ASA)

2. 394 =A

A5+ 80 (198%)
l. z=16.54mm, y =4.18mm 2. 9cm, 7-79cm 3. (a) 2.25cm (b) 4ecm 4. 3m

AS=A 81 (200%)
1. 20.6%2 [&A] 30~33]ollA Afegh W} W] 2spA| A=t



ASwAl 82 (203%)

1. 9cm 2. 24m 3. 9.54mm 4. 20.81cm 5. 7.21m

6. 11.18cm 7. 24.11mm 8. 82+15° =17°

9. (a) 217} 27.20cm (b) 45° 10. 20.81km  11. 3.35m, 10cm  12. 132.7 d}|2]
13. 2.94mm 14. 24mm

A5=A 83 (205%)

9 40 40 9
1. sinZ= 1,cosZ— 41,tanX— 9 , cos X = Al
L3 _4 B P _3 _4
2. s1nA—5,cosA 57tanA 47811’13 5,cosB 5,tanB 3
.8 8 .15 112
3. sind= 17,tanA— 5 4, sin X= 113’ cos X = 13
15 15 8 T _ 24
5. (a) T (b) 17 (c) G 6. (a) sinf = 2% (b) cosf= 55
7. (a) 9.434 (b) —0.625
AL EA 84 (207%)
1. 2.7550 2. 4.846 3. 36.52 4. (a) 0.8660 (b) —0.1010 (c) 0.5865
5. 42.33° 6. 15.25° 7. 73.78° 8. 7°56" 9. 31° 22’ 10. 41° 547

11. 29.05°  12. 20721’ 13. 0.3586  14. 1.803 15. (a) 40° (b) 6.79m

ASA 85 (210%)

1. (a) 12.22 (b) 5.619 (c) 14.87 (d) 8.349 (e) 5.595 (f ) 5.275
2. (@) AC=5.831cm, £ A =059.04", 2 C =230.96"

(b) DE=6.928cm, 2D =30", ZF=60"

(c) «J=62", HJ=15.634cm, GH = 10.60 cm

(d) 2L=63", LM=6.810cm, KM = 13.37cm

(e) 2 N=26", ON=9.124cm, NP = 8.201 cm

(

f) 285=49"° RS=4.346cm, QS =6.625cm
3. 6.54m 4. 9.40mm 5. 5.63m

AS=A 86 (212%)

1. 36.15m 2. 48m 3. 249.5m 4. 110.1m 5. 53.0m
6. 9.50m 7. 107.8m 8. 9.43m, 10.56 m 9. 60m



Ads= 1] 87 (216%)

(a) 42.78°,137.22° (b) 188.53", 351.47°

(@) 29.08°,330.92° (b) 123.86", 236.14 "

(a) 44.21°, 224.21° (b) 113.127, 293.12°

t=122"27", 237" 53’ 5. a=218"41", 321" 19’
0=39"44",219" 44’

S

AS=A 88 (220%)

1.5 2. 180° 3. 30 4. 120° 5. 1,120°
6. 2,144° 7.3,90° 8. 5,720° 9. 3.5, 960° 10. 6, 360°
11. 4, 180° 12. 5ms 13. 40Hz 14. 100 us, 0.1ms

15. 625Hz 16. Hdrt. 17. gbdct.

AS=A 89 (222%)
1. (a) 40mA (b) 25Hz (c) 0.04s = 40ms

(a)
(d) 40sin507to] 0.29rad (E= 16.62° ) At
(a) 75cm (b) 6.37Hz (c) 0.157s

(d) 75sin40to] 0.54rad (E+= 30.94° ) oAict.
(a) 300V (b) 100Hz (c) 0.01s == 10ms

(d)

(a)

d) 300sin2007t0] 0412rad (= 23.61° ) YAt

a) v=120sin1007t 2E (b) v=120sin(1007t+0.43) BE

i=20sin (807rt* E)A FLX §=20sin (80mt—0.524) A

3.25in (1007t + 0.488) m
(a) 5A, 50Hz, 20ms, 24.75° tAlct
(b) —2.093A (c) 4.363A (d) 6.375ms (e) 3.423ms

No ok



HASEA 90 (226%)

1. C=83",a=14.1mm, c=28.9mm, ¥ ° =189mm’
2. A=52" 2’,c=7.568cm,a=7.152cm,5101=25.65cm2
3. D=19"48', E=134"12', ¢ =36.0cm, % ©| = 134cm>
4
5

. E=49°0', F=26°38', f=15.09mm, % ©] = 185.6 mm>
L J=44"29", L=99"31",1=5.420cm, 5 °] =6.133cm? £
J=135°31", L=8"29",1=0.811cm, % °] =0.917 cm?
6. K=47"8', J=97°52', j=62.2mm, 5 ©] =820.2mm’ T
K=132°52", J=12°8", j=13.19mm, % ©] = 174.0mm">

AS=A 91 (228%)

1. p=13.2cm, Q =47.34° , R =78.66", 5l ] =
2. p=6.12Tm, Q =30.83°, R =44.17°, % ©] = 6.938 m>

3. X=83.33", Y=52.62", Z=44.05", & °| =27.8cm

4. X=29.77", Y=53.50", Z=96.73", & °] = 355mm
AswA 92 (229%)

1. 193km 2. (a) 122.6m (b) 94.80 ", 40.66 ", 44.54" 3. (a) 11.4m (b) 17.55°

4. 163.4m 5. BF=39m,EB=40m 6. 6.35m,5.37Tm 7. 32.48A, 14.31°

AS=A 93 (231%)

1. 80.42°,59.38°, 40.20° 2. (a) 15.23m (b) 38.07° 3. 40.25¢m, 126.05°
4. 19.8cm 5. 36.2m 6. ©=69.3mm,y=142mm 7. 130° 8. 13.66mm



AS=A 94 (235%)

6.61, 20.82° ), (6.61, 0.36rad)

5.83, 59.04° ), (5.83, 1.03rad) (
(6.55, 145.58° ), (6.55, 2.54rad)
(
(

1. (

3. (4.47,116.57° ), (4.47, 2.03rad)
5. (7.62,203.20° ), (7.62, 3.55rad)
7. (5.83,329.04° ), (5.83, 5.74rad)

4.33, 236.31° ), (4.33, 4.12rad)
15.68, 307.75° ), (15.68, 5.37rad)

Q@ N

AS=A 95 (236%)
1. (1.294, 4.830) 2. (1.917, 3.960) 3. (—5.362, 4.500) 4. (—2.884, 2.154)
5. (—9.353, —5.400) 6. (—2.615, —3.027) 7. (0.750, —1.299) 8. (4.252, —4.233)
9. (a) 40218°,40290°,402162°,402234°, 402 306"

(b) (38.04, 12.36), (0, 40), (—38.04, 12.36), (—23.51, —32.36), (23.51, —32.36)
10. 47.0mm



Ads= 1] 96 (239%)

1. p=105",¢q=35" 2. r=142°,5s=95" 3. t=146"

AS=A 97 (242%)

1. () oF=22 (a) 14cm? (b) 16em (ii) WsRAHE (a) 180mm? (b) 80mm
(iii) AAFZFE (a) 3600mm? (b) 300mm (iv) AFFa]ZE (a) 190cm? (b) 62.91cm

2. 35.7cm? 3. (a) 80m (b) 170m 4. 27.2cm” 5. 18cm

6. 1200mm 7. (@) 29cm? (b) 650mm> 8. 560m? 9. 3.4cm

10. 6750 mm> 11. 43.30cm? 12. 32 13. 230, 400

AS=A 98 (244%)

1. 482m> 2. (a) 50.27cm?> (b) 706.9mm?> (c) 3183 mm?
3. 2513 mm?> 4. (a) 20.19mm (b) 63.41mm 5. (a) 53.01cm? (b) 129.9mm>
6. 5773mm?> 7. 1.89m>

ASEA 99 (246%)
1. 1932mm? 2. 1624mm?> 3. (a) 0.918ha (b) 456 m

ALSSA 100 (246%)
1. 80ha 2. 80m? 3. 3.14ha



LH—rXﬂ 101 (249%)

1. 45.24¢cm 2. 259.5mm 3. 2.629cm 4. 47.68cm
5. 38.73¢cm 6. 12730km 7. 97.13mm

AS+A 102 (250%)

L@ & () i’g (c) %” 2. (a) 0.838 (b) 1.481 (c) 4.054

3. (a) 210° (b) 80° (c) 1 4. (a) 0°43" (b) 154° 8  (c) 414° 53’

5. 104.7rad/s

ASEA 103 (252%)

1. 113cm? 2. 2376 mm> 3. 1790 mm?> 4. 802mm> 5. 1709 mm>
6. 1269m?> 7. 1548 m? 8. (a) 106.0cm (b) 783.9cm? 9. 21.46m>
10. 17.80cm, 74.07 cm? 11. (a) 59.86mm (b) 197.8mm 12. 26.2cm
13. 202 mm?> 14.8.67 cm, 54.48 cm 15. 82.5° 16. 748

17. (a) 0.698rad (b) 804.2m? 18. 10.47m> 19. (a) 396mm? (b) 42.24%

20. 701.8mm 21. 7.74mm

ASEA 104 (256%)

. (a) 2 (b) (3, —4) (3, =2)0olA FA4, ¥

1 2. A& 4
3. 54 (0,1), ¥¥xl5 59 & 4. 54 (0,0), ¥HA5 6% &



AS=A 105 (260%)

1. 1.2m° 2. 5cm’ 3. 8cm? 4. (a) 3840mm® (b) 1792mm®
5. 9721 6. 15cm®, 135¢ 7. 500L 8. 1.44m°

9. (a) 35.3cm® (b) 61.3cm? 10. (a) 2400cm® (b) 2460 cm> 11. 37.04m
12. 1.63cm 13. 8796 cm® 14. 4.709cm, 153.9 cm” 15. 2.99cm
16. 28060 cm®, 1.099m? 17. 8.22m x8.22m 18. 62.5min
19. 4cm 20. 4.08m*

AS=A 106 (264%)

1. 201.1cm® 159.0cm? 2. 7.68cm™ 25.81em? 3. 113.1cm® 113.1cm?

4. 5.131cm 5. 3cm6. 2681 mm°

7. (a) 268083 mm®, 268.083cm® (b) 20106 mm?, 201.06 cm®

8. 8.53cm 9. (a) 512x106km?> (b) 1.09 X 1012km?
10. 664 11. 92m?®, 92,000

AS=A 107 (268%)

1. 5890 mm?, 58.90 cm? 2. (a) 56.55cm® (b) 84.82cm?
3. 13.57kg 4. 29.32cm’® 5. 393.4m>
6. (i) (a) 670cm® (b) 523cm? (i) (a) 180cm® (b) 154cm?

)
(iii) (a) 56.5cm® (b) 84.8cm? (iv) (a) 10.4cm® (b) 32.0cm”
(v) (@) 96.0cm® (b) 146cm? (vi) (a) 86.5cm® (b) 142cm?
(

vii) (a) 805cm?® (b) 539cm?

7. (@) 17.9cm (b) 38.0cm 8. 125cm® 9. 10.3m® 25.5m>
10. 65601 11. 657.1cm®, 1027 cm? 12. 220.7cm?
13. (a) 14581 (b) 9.77m? (c) 1404500

AS=A 108 (273%)

1. 147cem?, 164cm® 2. 403cem?, 3372 3. 10480 m?, 1852m”
4. 1707 cm* 5. 10.69cm 6. 55910cm?®, 6051cm? 7. 5.14m

AL EA] 109 (274%)
1. 8:125 2. 137.2¢



x—]]zgxP
A&S2A 110 (277%)

1. 4.5 &9 A= 2. 54.7 &% A& 3. 63.33m

4. 4.70ha
5. 143m?

A=A 111 (278%)

1. 42.59m° 2. 147m® 3. 20.42m°

AFwA 112 (281%)

. (a) 2A (b) 50V (c) 25A 2. (a) 25mV (b) 3A
4. (

3. 0.093As, 3.1A
a) 31.83V (b) 0 5. 49.13cm”, 368.5kPa



AESEA 113 (284%)

I Aztelere oAl 3719k 2, WERe 37)9 e wf 2o

2. A7t 3. azkat 4. WEj 5. 2zket 6. A7rat
7. WEl 8. 27ie} 9. Wef3y

ASEA 114 (290%)

1. 12N &of s 18.00° wgoz 1
2. 12m/s &% ool 22.62° a2 13m/s
3. 13N o #sl 37.57° PO 16.40N

4. 18N 3o Wsl 129.29° Weko g 28.43N
5. 30m W0 sl 21.80° WEFO R 32.31m
6. 5N 3o TWa] —14.72° @Oz 14.72N
7. 2~mupakol] el 29.04° WEFOZ 29.15m/s
8. 16.70° ¥rgko 2 9.28N

9. 159.56° W&o 2 6.89m/s

10. 10N &of sl 26.33° oz 15.62N
11. £9.22° S ¥3FO 2 21.07knots

AL2A 115 (293%)
1. (a) 78.16° w&Fo 2 54.0N (b) 4.66° Y}3FO 2 45.64N
2. (a) 121.81° 3o 31.71m/s (b) 8.63° WIFO=Z 19.55m/s

AS=A 116 (294%)

1. 2Rlupsfo] e 71.6° WaFO 2 83.5km/h
2. 4% 55% 60° 3. 22.79km/h, E9.78° N

AFwA 117 (294%)

1. i —j —4k 2. 4i +j —6k 3. —i +7j —k 4. 5i—10k
5. —3i +27j —8k 6. —5i +10k 7.4 +7.55 —dk 8. 20.55 — 10k
9

10. 2¢ +405 — 43k
3.6i +4.45 —6.9k



%—E—Kﬂ 118 (297%)

1. 45sin (44+63.5°) 2. (a) 20.9sin (wt+0.63)V (b) 12.5sin (wt—1.36)V
3. 13sin (wt+0.393)V

ASEA 119 (298%)

1. 4.5sin(4+635°) 2. (a) 20.9sin (wt+0.62)V (b) 12.5sin (wt—1.33)V
3. 13sin (wt+0.40)

AS=A 120 (300%)

1. 4.472sin (wt+63.44°) 2. (a) 20.88sin (wt+0.62)V (b) 12.50sin (wt—1.33)V
3. 13sin (wt+0.395) 4. 11.11sin (wt+0.324) 5. 8.73sin (wt—0.173)
6. 1.01sin (wt—0.698) A

AsEA 121 (302%)

11.11sin (wt+0.324) 2. 8.73sin (wt—0.173)
i=21.79sin (wt—0.639) 4. v=>5.695sin (wt+0.695)
r=14.38sin (wt+ 1.444)

(a) 305.3sin (314.2t—0.233)V (b) 50Hz

(a) 10.21sin (628.3t+0.818)V (b) 100Hz (c) 10ms

(a) 79.83sin (300t +0.352)V (b) 150Hz (c) 6.667ms

150.6 sin (wt—0.247)V

© XN 0w



Adae 1] 122 (304%)

ASEA 123 (307%)
1. stue] 7127F 10t49] AFsARS UEH=H AHE-
3.5,4.5,6, 7,5 1231 4719 7|52 ERACH
2. st4e] 7]=7t 100709 B&5 UEW=d AM-EHH,
11, & 9, % 12, 3 6.55 YEhdt},
2} Zol7t 35, 44, 62, 68, 49, 41°] vl&5t= 6709 22 HA] 4+ AAAY
pa 7

gk, st wejola mAstel 77t

1007) ©9jolq wilstol ¥

0]7} 1580, 2190, 1840, 2385, 1280 ©@of v|d5t= 5749 & 7HAQl 44

A1, Qo ROl EOIE W0l pE 20% £t
8. Theat o] w3l £UL kol Ay Ul

N
N
o o Hi

120 18%, 7%, 35%, 12%, 28%:
231 20%, 8%, 32%, 13%, 27%:
35 22%, 10%, 29%, 14%, 25%;
47 20%, 9%, 27%, 19%, 25% .
A} By FYOIA ofxF Wetvt Qla, C& °F 8% Hastil D °f ™% BV L2l
Fe 0_|1= 3% 71—/on]:]—
9. 247} HA7to] 7.5°,22.5°,52.5°,167.5", 110" 2 B¢ UdoJo] 37191 ¢
10. 242+ F417Fo] 1077, 156°,29°, 68° 2 B&H 2dojo] 37|91 ¥
11. (a) 495000¢ (b) 88 12. (a) 16450000 (b) 1

o
un

L SYEt Bole glo, O 2 AEEE T 4 Qo
B =

39.3 - 39.4 1

39.5 - 39.6 5

39.7 - 39.8 9

39.9 - 40.0 17

40.1 - 40.2 15

40.3 - 40.4 7

40.5 - 40.6 4

40.7 - 40.8 2
2. &740] 39.35, 39.55, 39.75, 39.95, --- 0|1l =o|7} ZF7F 1,5, 9,17, -9 A2 Fst= ARzt



3. 7T Eole fley, a3 22 =AERs UE 4 ol

A RS
20.5 - 20.9 3
21.0 - 214 10
215 - 21.9 11
22.0 - 22.4 13
22.5 - 22.9 9
23.0 - 234 2

4.99% Folt glon], g 22 E4RES WS & A

AZ 4
1 - 10 3
11 - 19 7
20 - 22 12
23 - 25 11
26 - 28 10
29 - 38 5
39 - 48 2

5. 20.95 3;21.45 13; 21.95 24; 22.45 37; 22.95 46; 23.45 48

6. 5.5, 15, 21, 24, 27, 33.5, 43.52 X0 2 72t7 A2 Ast= RApzra. xAzEE o] ol(7
5 "I ©3)= 0.3, 0.78, 4, 4.67, 2.33, 0.5, 0.20]C}.

7. (10.952), (11.459), (11.9519), (12.45 31), (12.95 42), (13.45 50)

8. oAl 79 B2 FRE K= AR Alg BA digt FA=s2 T

9. (a) @Y Fol: gou], 1M LS EAPES WE 4 k.

As =2
2.05 - 2.09 3
2.10 - 2.14 10
2.15 = 2.19 11
2.20 - 2.24 13
2.25 = 2.29 S
2.30 - 2.34 2

(b) &7°] 2.07, 2.12, -~ 0|1 &O|7} 3,10, -1 M2 Hsl= AP S
(c) (@) &ol= FojAl RS o83t 43S deth

2.095 3;2.145 13;2.195 24; 2.245 37; 2.295 46; 2.345 48
(d) (o)l ol RS 7= §5% As B0 digt #8 =1



A 327
9% 27, AW 26

ASEA 125 (316%)
1. B 7.33, 295 8, FQI 8 2. W 27.25,
4. B 115.2, 292 126.4, &¥Zro] gich

. T BA
Wt 4.7225, 295 4.72, AWIZE 4.72

4 89, AHIZL 88.2

AL A 126 (318%)
1. 23.85kg 2. 171.7cm 3. H+ 89.5,

4. B 2.02158cm, £94 2.02152cm, FYIZE 2.02167cm

AL SR 127 (320%)

1. 4.60 2. 2.83uF 3. G+t 34.53MPa, EEZHAL 0.07474MPa
4. 0.296 kg 5. 9.394cm 6. 0.00544 cm

AL EA] 128 (322%)
1. 30, 27.5, 33.5 2. 27, 26,33 Agt
3. Q =164.5¢cm, Q, = 172.5cm, Qg = 179¢m, 7.25 cm
4. 373} 38; 403 41 5. 40, 40, 41; 50, 51, 51



As=A 129 (326%)

1. (@) 2 = 02922 (b) ~ ® 0.7778

9 9
2. (a) % = 0.1655 (b) % TX 0.3381 (c) % EX 0.4964
3. (a) % (b) % (c) % a. %
N O N CE R
6. (a) 55 () 507 (©) Toor (@) oo
ASEA 130 (328%)
. (a) 0.6 (b) 0.2 (c) 0.15 2. (a) 0.64 (b) 0.32

1 .
3.0.0768 4. (a) 0.4912 (b) 0.4211
5. (a) 89.38% (b) 10.25% 6. (a) 0.0227 (b) 0.0234 (c) 0.0169



LH—rXﬂ 131 (332%)

1. 1,5,21,9, 61 2.0,11, —10, 21 3. =29 27|
ASEA 132 (333%)
1. 16, 8
A&TA 133 (336%)
1
1. 28z° 2.2 3. 2z—1 4. 62°—5 ]
X
2 4 3 2 6
6. 0 7. 1+? 8. 15z —82° + 1522 + 2z 9. A
1 3 3 1 1
10. 4—38 11. 12. =/t 13, — = 14. 3+ -
g W3 y Vi o Y
3 10 7
. 16. 1+ . — 18. ——+
15. 22 +2 2\/; 17. 22—2 - W
19. 66-12 20, 1——= 21 (@6 L (©3@ -~ () —L () -7
' z? : 6 16 4
22. 122—3 (a) —15 (b) 21 23. 62° +6x—4, 32 24. —6z>+4, —9.5
A&SA 134 (338%)
1. (a) 12cos3x (b) —12sin6zx 2. 6cos30+10sin 20 3. —0.707
4. —3 5. 270.2A/s 6. 1393.4V /s
7. 12cos (4¢+0.12) 4+ 6 sin (3t—0.72)
A& TA 135 (340%)
4 5 4 1
1. 15¢% (b) — 22— )
(a) 15¢”" (b) T 2. g=y=5 316 4. 2.80
5. 664
ASEA 136 (340%)
4 2 . 6
1. (a) —1 (b) 16 2. ——+ —+10sinb5z—12cos2z + ——
x €T e’
AL TA 137 (341%)
2
1. (a) 362> +12z (b) 722 +12 2. 8+?
4 12 6 1
3. (a) git—5+t—3 4\/73 (b) —4.95 4., —12sin2t— cost

o
o[\

¥ =A

Mo



A=A 138 (342%)

1. —2542A/s 2. (a) 0.16¢d/V (b) 312.5V 3. (a) —1000V/s (b) —367.9V/s
4. —1.635Pa/m



A5+ 1] 139 (346%)

5 3
1. (a) dz+c (b) %ﬂ 2. (@) Jatve (b) St
2 3 5 2 5 3 > 3.4
3. (a) 153: +¢ (b) 24x%4+c 4. (a) ST TG +c¢ (b) 2t 4t +c
3
5. (a) 3%—535-1-0 (b) 40+202+%+c
S 3 3 42 3.3 5
6. (a) 29 20+0°+c (b) R + 5T 2z +c
4 .
7. (a) ~gote ()~ e 8. (a) =V +e (b) — /e +e
423 5 9
10 15 , .
9. (a) e (b) =Vt 10. (@) 2sin2wte (b) — < cosdf+e
11. (a) —6coslx+c (b) 1851nlx+c 12. (a) et (b) — 2_4e
' 2 3 8 15e7*
2 u?
13. (a) —lnx—i—c (b) 7—1nu+c
a) 8vz+8Va +—\/ +c ( ——+4t+4?t+c
AS T A 140 (348%)
1. (a) 1.5 (b) 0.5 2. (a) 105 (b) —0.5 3. (a) 6 (b) —1.333
4. (a) —0 75 (b) 0.8333 5. (a) 10.67 (b) 0.1667 6. (a) 0 (b) 4
7. (a) 1 (b) 4.248 8. (a) 0.2352 (b) 2.638 9. (a) 19.09 (b) 2.457
10. (a) 0.2703 (b) 9.099 11. 77.7m°
AS=A 141 (352%)
.5y A 2. 539 A 3. 32 4. 29.33Nm 5. 37.5

1.3
6. 7.5 7.1 8. 1.67 9. 2.67 10. 140m



I_HTxﬂ 142 (354%)
1. 21, 25 2. 48,96 3.14,7 4. -3,-8 5. 50, 65
6. 0.001, 0.0001 7. 54, 79
AL A 143 (355%)
1. 1,3,5, 7, 2. 7,10, 13, 16, 19, 3. 6,11, 16, 21, 4. 5n
5. 6n—2 6. 2n+1 7. 4n-2 8. 3n+6
9. 6°(=216), 73(=343)
AL 2A 144 (356%)
1. 68 2. 6.2 3. 85.25 4. 23.5 5. 1149#)]
6. 209 7. 346.5
Ad&48A 145 (358%)
1. —0.5 2. 1.5,3,4.5 3. 7808 4. 25 5. 8.5, 12, 15.5, 19
6. (a) 120 (b) 26070 (c) 250.5 7. 1984%WF ¥, 223687 8. 87207+ ¥
ASEAl 146 (360%)
1. 2560 2. 273.25 3. 512, 4096 4. 812.5 5.8
2
6. 15
ALEA 147 (361%)
1. (a) 3 (b) 2 (c) 59022 2. 1084 3. 15669, 1149 4. 56.68M
(b) 194

5. 71.53¢g 6. (a) 5991400¢
7.100, 139, 193, 268, 373, 518, 720, 1000rev/min



AS=A 148 (364%)
1. (a) 65, (b) 11, (c) 144, (d) 9y
2. (a) 21,4 (b) 25;, (c) 454, (d) 514,
3. (a) 42, (b) 564, (c) 65;, (d) 1844,
4. (a)
5. (a)

—_

a) 0.8125,, (b) 0.78125,, (c) 0.21875,, (d) 0.34375,,
a) 26.75,, (b) 23.375,, (c) 53.4375,, (d) 213.71875;,

AL ER] 149 (366%)

1. (a) 101, (b) 1111, (c) 10011, (d) 11101,

2. (a) 11111, (b) 101010, (c) 111001, (d) 111111,

3. (a) 101111, (b) 111100, (c) 1001001, (d) 1010100,

4. (a) 0.01, (b) 0.00111, (c) 0.01001, (d) 0.10011,

5. (a) 101111.01101, (b) 11110.1101, (c) 110101.11101, (d) 111101.10101,

AS=A 150 (366%)

1. 101 2. 1011 3. 10100 4. 101100
5. 1001000 6. 100001010 7. 1010110111 8. 1001111101
9. 111100 10. 110111 11. 110011 12. 1101110

A5 3A 151 (368%)

101010111, (b) 1000111100, (c) 10011110001,

0.01111, (b) 0.1011, (c) 0.10111,

11110111.00011, (b) 1000000010.0111, (c) 11010110100.11001,
7.4375,, (b) 41.25,, (c) 7386.1875,,

1. (a
2. (a
3. (a
4. (

a

= = = =

AL A 152 (371%)
1. 231,, 2. 44,, 3. 152, 4. 753, 5. 36,
6. C8 7. 5B16 8. EE16

AS=A 153 (372%)

1. D7y 2. EAyg 3. 8By 4. Aby
5. 110111, 6. 11101101, 7. 10011111, 8. 101000100001,



ASE A 154 (374%)
(a) >3 (b) >3 3.(a)t<1 (M z<6

l.(a) t>2 (b) z<5 2.
3 1 4
4.(a)k25(b)z>5 5. (a) y= g(b)xz Bl
AL 9 155 (375%)
3 5
1. 5<t<3 2. b<y< —1 3. —5<x<5
4. t> 31} t<% 5. k> 43 k< —2
ALSE A 156 (376%)
1. 4<2x<3 2. t>5,t<-9 3. h<z< 14 4, 3<zx <2
ALSEA 157 (377%)
1. 2>4,2<4 2. 4<z<4 3. 2> V3, re< — /3
4. 2 < k<2 b. 5<t<7 6. t=>7,t<-5
7. y=2,y<-2 8.k>—%,k<—2
AL E A 158 (378%)
1. 2>3, 2 <2 2. 4<t<?2 3 —2<m<% 4. y=5,y< -4
5, 4<2<0 6. (—v3—-3)<z<(y3-3)
13 1 13 1



A 397
ASEA 159 (382%)

1. a=12, n=1.8, 451, 28.5 2. k=15,n=—-13.m=3,n=25

AS=A 160 (384%)

1. )a=—8,b=5.3,p=—8(5.3)7 (ii) —224.7 (iii) 3.31

AH=A 161 (386%)

1. a=76, k= —7x10"%, p="76e """ 37.74cm
2. 0, =152, k= —0.05



